Calculate the value of A.
Give your answer correct to 3 significant figures.

_ . o 2 Leave
| blank
Ma:) cF 4 j
Diagram NOT
4cm hem accurately drawn
6cm
!
T O -+ Q9
(Total 3 marks) '

Ma:jtS'E'BH

Diagram NOT
Jcm accurately drawn

Work out the value of x.

8 cm

Give your value correct to 1 decimal place.

~ (Total 3 marks)

Q6

— 3




10. The diagram shows a circle with centre O and radius 5 cm.

Diagram NOT
accurately drawn

ANB is a chord of the circle.
AB=9.6cm.
Angle ONA = 90°.

(a) Write down the length of AN.

Mayy OF 4H =

R = | ) |
m
(b) Calculate the length of ON. |
(3 Qo
__ B N . (Total 4 marks) |
12. 4
NoS ©F UK
Diagram NOT
4.9 cm accurately drawn
B 16.8 cm C
ABC is a triangle.
Angle ABC =90°.
AB=49cm.
BC=16.8 cm.

Calculate the length of AC.

.. €M

(Total 3 marks)




(@) 42cm Hg:j ot o

Diagram NOT
S.1em accurately drawn

Calculate the value of x.
Give your answer correct to 3 significant figures.

Q)
(b)

S5cm Diagram NOT
accurately drawn

29°
B C

Calculate the length of 4B.
Give your answer correct to 3 significant figures.

3

(Total 6 marks)

| ™
i Leave

blank

;Q'f_




| blank |

(a) M”j oq Y
! 5.1ecm

Diagram NOT ;
accurately drawn §

xem 32cm

Calculate the value of x.
Give your answer correct to 3 significant figures.

X S e R T e e e
(3)
(b)
A
Diagram NOT
accurately drawn
327
B 6.5cm ¢
Calculate the length of 45,
Give your answer correct to 3 significant figures.
R L ||
@) 3
(Total 6 marks)

Nev OS5 HH

68° Diagram NOT
xcm
4.8 cm accurately drawn

Calculate the value of x.

(Total 3 marks)

Q9




Leave
Diagram NOT
B accurately drawn
4 cm
H
6 cm
Work out the value of 4.
Give your answer correct to 3 significant figures.
h= Q7
(Total 3 marks) | |
The diagram shows a triangle LMN. Mo.& °C
MN=15cm. LN=8cm.
Angle LNM = 90°.
L
S Diagram NOT
24 accurately drawn
8cm
H
N 15cm M
(a) Calculate the length of ML.
11
3)
(b) Write down the value of tan x°.
®m Q7
(Total 4 marks)




+ Leave |

blank |

20. The diagram shows an equilateral triangle of side 2m. Mﬂs oa L, |
4 ;

Diagram NOT
accurately drawn
2m 2m
1
B M &
(a) (i) Use the diagram to show that cos60° = ]E
(i) Use the diagram to find the exact value of sin 60°
Give vour answer as a surd.
SINB0° = e
(C)]
(b) Use the exact values of cos 60° and sin60° to show that (cos 60°) + (sin60°)? = 1
|
@ Q0
(Total 6 marks)
e e e
l\ko:ﬂ oa 33U blank |
1. Diagram NOT
accurately drawn
3.6cm

Waork out the value of x. )
Give your answer correct to 1 decimal place.

i
2= s [

(Total 3 marks)



A straight road rises 60 m in a horizontal distance of 260 m.

60 m

260 m

(a) Work out the gradient of the road.
Give your answer as a fraction in its lowest terms.

(b) Calculate how far the road rises in a horizontal distance of 195 m.

8.7 cm

Diagram NOT
o accurately drawn

54 cm

Work out the value of x.
Give your answer correct to 1 decimal place.

Nov 0% 3H

Diagram NOT
accurately drawn

(Total 4 marks) |

Mo &

(Total 3 marks)

Leave |
blank

Q9

1§
|
i
|




LB o

LB

, Leave |
blank |

| 18. S Noy Ot 4w

Diagram NOT
5.3 cm accurately drawn

3.8cm 1 6.2cm

| Angle POS=90°.
Angle ROS=90°.
PS=53cm, PQ=3.8cm, QR=6.2cm. |

Calculate the length of RS.
Give your answer correct to 3 significant figures.

Q18

(Total 5 marks)

-------------------------------------—
NITF226A 17 Turn over

]

1y



AoV 06 4H
L
Diagram NOT
accurately drawn
9.3 cm
M Ly

5.4 cm

Triangle LMN is right-angled at V.
MN =5.4cmand LN=9.3 cm.

(a) Work out the size of angle LMN.
Give your answer correct to 1 decimal place.

The length of MN is 5.4 cm, correct to 2 significant figures.

(b) (i) Write down the upper bound of the length of MN.

(i) Write down the lower bound of the length of MN.

o

. tm

.. m

@)

Leave |

| blank |

U0 00 A



18.

Leave |

blank
NOV ©9q ¢H
{
Diagram NOT
accurately drawn
8.3cm
7.2cm 11 39cm
A D B
ABC is a triangle.
D is a point on 4B.
CD is perpendicular to AB.
AD=72cm, DB=39cm, AC=83cm.
Calculate the size of angle DBC.
Give your answer correct to 1 decimal place.
° Q18

(Total 5 marks)

AR 0 DA



| Leave |

| blank |
18. Maj 06 3 Diagram NOT |
D C accurately drawn |
23 m
P /N6% 4 BT4AQ
|
The diagram shows a side view of a rectangular box ABCD on a lorry.
The box is held down on the horizontal flat surface of the lorry by a rope.
The rope passes over the box and is tied at two points, P and Q, on the flat surface.
DP=23m.
Angle APD = 62°.
Angle BOC = 74°.
Calculate the length of BQ.
Give your answer correct to 3 significant figures.
........................... m QI8
(Total 5 marks)
15
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9. ABC is a triangle.

AB=AC =13 cm.
BC=10cm.

M is the midpoint of BC.

Angle AMC = 90°.

A

13cm 13cm
]

B M (2

——]—

(a) Work out the length of AM.

Mou Oc 2H

Diagram NOT
accurately drawn

eenn CIM

*

Leave
blank

10
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) Lcave—\
Moy 06 M blank
(b) A solid has five faces. Q4 cont -
Four of the faces are triangles identical to triangle ABC.
The base of the solid is a square of side 10 cm.

Diagram NOT
accurately drawn

13cm

13cm

Vl@cm

Calculate the total surface area of this solid.

10 cm

o

@ QI

(Total 8 marks)

11

AU U R A0 Tinover





